
Time: 10 Minutes Paper Math 7 (T-1) Total Marks: 10

5th Month, 3rd Week, 4th Day Review Exercise 4 Q # (1,2,3,4)

Q.1. Choose the correct options.   (0.5 x 6 = 3)  
(i) A right angled triangle can not be ______ triangle.

 ______  
(a) isosceles  (b) equilateral                     
(c) scalene                            (d) Both isosceles and scalene


(ii) In right angled triangle, one angle is 90o and the other two angles are:

 90o  
(a) complementary     (b) supplementary          
(c) obtuse                                   (d) reflex                                

(iii) In an isosceles triangle. If base angles are equal to 42o each, then vertical 

angle is:  42o 
(a) 42o (b) 76o (c) 84o (d) 96o

(iv) The diagonals in the quadrilateral _____ do not bisect each other:

 ______ 
(a) square    (b) rectangle  (c) kite    (d) rhombus

(v) The exterior angle of regular octagon is: 
(a) 35o (b) 45o (c) 90o (d) 135o

(vi) In which quadrilateral, there are no parallel lines? 
(a) kite    (b) square    (c) rectangle  (d) rhombus
 Answer the following questions:  
Q.2. Using compass and ruler construct the given angles.  (2.5x2=5)



(i) 135o (ii)

Q.3. Construct a right angled triangle with side lengths 4.5 cm, 6 cm and

75mm.      (1x2=2)

 75  6  4.5  
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